FOrReVvER | REDWOOD

From the Forest, For the Forest since 1995
866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

ASSEMBLY INSTRUCTIONS FOR THE
ARC PICNIC BENCHES




"9z1s uo buipuadap Aioa [jim aipmpipy inoA Jo suoisuawiq :910N

[

"(1eas a1 01 spoddns reuobelp ayr yoene o)
syog % v X ..9T/S

[

"(sBa] ayr 01 sioddns Jeuoberp
ay1 yoene o “sbe| ay 01 188 aY) yoeNe 01)
syod . % € X ,.9T/S

‘ON

Buimeag

uondiiosag

1S1TT34VMNMAYVH

‘JU3s supd Y3 UO PayIPW SIAGUINU Y3 O3 Y2IDW 10U Op 3saYy | ‘A|Uo 32Ua43fal 10f 3p 3|GD] SaXO0g JO JUIIUO) Y3 Ul SIAqUINU 1IDd 930N

€ A uoddns |euoBeig Z

N < h N

I 1eas T
"ON Buimeaq uondiiosag yile)

S3IX04d 40 INJLNOD

Pl 1

ARC PICNIC BENCHES
www.ForeverRedwood.com



"JU3s s3apd 3y3 UO payIpBW SIdGUINU Y] 03 Y210W JouU Op 3saY [ “AJU0 IoUa13fa. 40f 340 BUIMDIF Y1 Ul SIaquinU 1upd :9)J0N

uoddns Jeuobeig

sha

Jeas

ON

NOILdId0S3d

P| 2

ARC PICNIC BENCHES
www.ForeverRedwood.com



Step 1: Use 5/16” x 3 %" bolts (A) to attach the Seat (1) to the legs (2). Each part has a series of numbers that indicate where
to attach the part with the corresponding number.

5/16" X 3 %" Bolts

Step 2: Finally, attach the diagonal supports (3) to the legs with 5/16™" x 3 %"" bolts (A) and to the seat with 5/16"" x 4 2" bolts
(B). Each part has a series of numbers that indicate where to attach the part with the corresponding number.
Note: Align the holes drilled in the diagonal support with the holes of the legs and seat.

5/16" X 3% Bolts

5/16" X 4 %" Bolts

P|3

ARC PICNIC BENCHES
www.ForeverRedwood.com



This completes the Bench assembly. Hope you enjoy your set for many decades. If you ever have a problem or a question, don't
hesitate to call us (866 332 2403) or email us. We are here to support you.

P| 4
ARC PICNIC BENCHES
www.ForeverRedwood.com



